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Note: Answer all questions from Part-A and any FIVE from Part-B
Part-A (10 x 2 = 20 Marks)

Q. No. Stem of the question _ M L CO PO
1. State Clamping theorem : 2 1 1 1
2. Draw the circuit diagram for compensated attenuator and write | 2 1 1 1
conditions for Under, over and perfect compensation.

3. Sketch the darlington pair amplifier circuit? Write its any two | 2 2 2 1
applications.

4. Define Common Mode Rejection Ratio (CMRR)? How to improve | 2 3 2 2
CMRR in differential amplifier?

S. What are the advantages of negative feed back in amplifiers? 2 .1 3 1

6. The distortion in the amplifier is found to be 3%, when the feedback | 2 3 3 2
ratio of negative feedback amplifier is 0.04. When the feedback is
removed, the distortion becomes 15%.Find the open loop gain of an
amplifier.

7. What is meant by Piezo electric effect? List out any two examples | 2 2 4 1
which comes under Piezo electric crystals.

8. For a RC phase shift oscillator, the feed back network uses R=4kQand | 2 2 4 1
C=1500pF. The transistor amplifier used, has a collector resistance Rc
of 10k€. Calculate the frequency of oscillations in the oscillator.

9. What is power amplifier? How it different from voltage amplifier? 2 29 1

10. The load of 4 is connected to the secondary winding of transformer | 2 1 b 1
having primary winding turns 200 and secondary winding turns 20.
Calculate impedance seen at primary winding of the transformer.

Part-B (5%8 = 40 Marks)
I1. a) | An RC differentiator circuit is driven from a symmetrical square wave | 4 2 1 2

of peak to peak V volts with period T. Sketch the output wave forms for
i) RC<<T ii)RC=T iii)RC>T
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When the given input wave form is applied to the above circuit,
determine the steady state output waveform.

Explain in detail about the frequency response of a Common emitter
amplifier?
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Find the Q-point, 4,,R,,R,, A, for the given circuit by assuming the
amplifier operating in midband frequency.

Identify feedback topology in the emitter follower circuit. Calculate
expressions for input, output impedance and voltage gain with feed
back.

An amplifier with negative feedback has a voltage gain of 120.It is
found that without feed back an input signal of 60mV is required to
produce a particular output, whereas with feedback the input signal
must be 0.5V to get same output. Find Av and B of the amplifier.

Derive the expression for frequency of oscillations in a Hartley
Oscillator?

In a Hartley Oscillator L1=15mH ,C=50pF and frequency of oscillations
is 168kHz.. Calculate the value of L
i) If the mutual inductance between L; and L, is SuH.

i1) If the mutual inductance between L, and L is zero.
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15. a) | Explain with neat circuit diagram, the working of a Class-A power 5 12
amplifier with resistive load.
b) | Prove that in a transformer coupled Class-A Power amplifier the : 2
maximum efficiency is 50%
16. a 1 2
: Dy okn
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For the given clipper circuit shown in above if the input voltage
Vi (t)=50sinwt is applied. Calculate and plot
1)  Transfer characteristics
ii) Input and output waveforms on the same time scale.
b) | Draw the equivalent small signal model for BIT in CE configurations at 2 12
low and high frequency. Also write significance of each parameter.
17. Answer any two of the following:
a) | Draw a feedback amplifier in block diagram form. Identify each block, 3 1
and state its function.
b) | Explain the operation of Wien bridge Oscillator? Mention its 4 1.2
advantages over RC Phase shift oscillator?
¢) | Explain how to eliminate Cross over distortion in audio power 3 12
amplifier?
M : Marks; L: Bloom’s Taxonomy Level; CO; Course Outcome; PO: Programme Qutcome
i Blooms Taxonomy Level — | 20%
ii) Blooms Taxonomy Level — 2 40%
iii) Blooms Taxonomy Level — 3 & 4 40%
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